A\
4 3 7 G0 INDUS7/FIES
} ¢ \‘ Z’qED LYGH TIN
)

2014 GMC° 1500

FOG LIGHT MOUINT KIT

ISETOF DUALLYs OR DZ2s
FOG LIGHT BRACKET
MOUINTING INSTRUCTIONS

PARTS INCLUDED

(8) Socket Button Head Screw #8-32 x 1/2" Stainless Steel
(8) Nyloc Nut #8-32 Stainless Steel

(8) Washer #8-32 Stainless Steel
(4)
(4)

4) Socket Button Head Screw M6X1 x 30mm Stainless Steel

4) Plastic Unthreaded Spacer (4) Nyloc Nut M6 Flange

Thank you for purchasing Rigid Industries’ products for your GMC®.
Installation is fairly simple with the right tools and good mechanical abilities.
If you are not confident in your mechanical skills, please seek the help of a
professional to perform the installation. Please read through all of these
instructions and tips before proceeding with installation.




Always disconnect any power sources connected to your
vehicle before servicing fuses or electrical systems.

x

STEPI1

|/

We recommend starting your installation on the driver’s side fog light first.

Unplug the fog light connector clip by pinching the connector and pulling the
connector off.




STEP 2

There are 3 fog light retaining clips on the back of the fog light that need to be

disconnected. We recommend using needle nose pliers to pinch the connectors
and release them.

Once all 3 retaining clips have been released, you can now remove the original fog
light by pushing it out.




ﬂ

STEP 3

|

Unclip the fog light shroud and remove.




x

STEP 4

\

Using a Dremel® tool, cut out sections from the factory fog light housing to remove
material and make room for your new Rigid Industries D-Series Fog Lights.




/ STEPS \

Using your new Rigid Industries Fog Light Bezel as a template, mark the four holes

with a pencil that need to be drilled out in order to mount the bracket in the original
OEM slot.

\ Drill size will be 11/64 inch or a #18 drill bit.




f STEP 6 \

Use the Plastic Unthreaded Spacer, Socket Button Head Screw M6x1 x 30mm, and
Nyloc Nut M6 Flange to mount D-Series lights to the Fog Light Bracket.

The light will hold the Nyloc Nut and you will need a 5/32 Inch Allen wrench to
k tighten the bolt into place. J

Unthreaded Spacer

Mé6 Flange Nyloc Nuts

Mé6x1 x 30mm



x

STEP 7

|

Use 4 Socket Button Head Screws, 4 Washers, and 4 Nyloc Nuts to mount the new
Bezel (with your D-Series light attached) into the original OEM fog light slot.

This will complete the driver’s side fog light installation.

Socket Button #8-32 x 1/2

#8-32 Stainless Nyloc Nut




/ INSTALLING THE PASSENGER SIDE FOG LIGHT: \

Repeat Steps 1-7. However, when it comes time to mounting together the Bezel with
the D-Series light attached to the original OEM fog light slot, there will be a piece of
plastic that interferes with the heat sink of the light.

Simply remove the piece of plastic with a Dremel® type tool to ensure there is
\ nothing blocking proper installation. j

REMOVED SECTION




|

WIRING

L Wire lights according to the instructions included with your lights.

Take care to avoid any heat sources and sharp or abrasive surfaces.

Your installation is now complete.

Welcome to the Rigid Nation!



ALSO AVAILABLE FOR YOUR GMC*
LED GFRILLES

BY FAIGID INDUS TRIES ©

2014 GMC 1500 LED GRILLE
PART #40573



WARRANTY INFORMATION

Rigid Industries warrants that this product will be free from defects in material and workmanship. If you believe your
Rigid Industries product is defective, it must be returned to Rigid Industries for inspection by our warranty claims
department. If, after inspection, Rigid Industries verifies that the defect was not caused by negligence, abuse,
unauthorized repair or disassembly, Rigid Industries will determine whether the product will be repaired or replaced
in accordance with Rigid Industries Limited Lifetime Warranty*.

Warranty Periods:
« AILLED Lights - Limited Lifetime « Flashlights - 1 year
« Accessories and Mounts - 2 years - Batteries — 90 days

Warranty Coverage:

To begin your warranty claim, you must have a Return Merchandise Authorization (RMA) number. To get
your RMA number, please contact our warranty department by phone at 480-655-0100 ext. 1008, or by
filling out the Return Merchandise Authorization Form on our website.

All of the following will immediately void all warranties:

« Customer negligence - The customer has modified the light and/or is not using it for the recommend application.
« Customer abuse — Damage to the light beyond normal wear and tear.

« Repair work done by unauthorized personnel without Rigid Industries’ approval.

- If the light has been opened or any screws have been removed.

All warranties are non-transferable. Warranty terms and policies are subject to change without notice.

*For all information regarding the Rigid Industries’ Limited Lifetime Warranty please call 855-760-5337 ext. 1008,
email warranty@Rigidindustries.com, or visit our warranty page online at RigidIindustries.com/about/warranty.

Follow us on facebook at
Facebook.com/Rigidlndustries

779 N Colorado St, Gilbert, AZ 85233 « 855-760-5337 « www.rigidindustries.com
PKG-IS-060 REV2

Rigid Industries, Dually, D2 and D-Series are registered and/or unregistered trademarks of JST Performance, Inc. d/b/a Rigid Industries.



